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The Problem (in your own words):__________________________________________________

______________________________________________________________________________

______________________________________________________________________________

Strategy Chosen:________________________________________________________________

Carry out the Plan (document your steps)

______________________________________________________________________________

______________________________________________________________________________

______________________________________________________________________________

______________________________________________________________________________

______________________________________________________________________________

______________________________________________________________________________

______________________________________________________________________________

______________________________________________________________________________

______________________________________________________________________________

______________________________________________________________________________

______________________________________________________________________________

______________________________________________________________________________

Looking Back: _________________________________________________________________

______________________________________________________________________________

The Problem: A farmer needs to move a wolf, a sheep and a bushel of grain across a river.  He can only take one item at a time in the boat.  When the man is not around, the wolf will eat the sheep and the sheep will eat the grain.  How can the farmer move all three of these across the river?
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